

Proximate Composition and Bacteriological Quality of Some Vegetables Sold in Parts of Taraba State, North-Eastern Nigeria

Chrinius Hammuel^{1*}, Silas Verwiyeh Tatah², and Joyce Briska³

Federal University Wukari, Taraba State, Nigeria

hammuel@fuw.edu.ng

Article Info:

Submitted:	Revised:	Accepted:	Published:
Aug 25, 2024	Jul 11, 2024	Jul 23, 2024	Jul 30, 2024

Abstract

Market-sold fresh vegetables are subjected to a variety of contaminants or pollutants. The proliferation of microorganisms, like bacteria, in food is caused by growth-promoting environmental conditions. Determining the bacterial quality and proximate composition of some lettuce and cabbage sold in certain areas of Taraba State is the goal of this study. The samples were collected from Taraba North (Jalingo and Zing Markets) and Taraba South (Wukari and Donga Markets), and their nutritional makeup or proximate composition was determined using method adopted from Association of Official Analytical Chemists and bacterial count was carried out using pour plate method. The mean moisture content of the vegetables was higher in cabbage (95.41 ± 0.04) and lettuce (96.82 ± 0.52) from Donga. Lettuce and cabbage from Jalingo had ash content of 0.99 ± 0.04 and 0.91 ± 0.04 respectively. Cabbage (0.70 ± 0.88) and lettuce (0.85 ± 0.026) from Jalingo and Zing respectively were found to have a high protein composition. The cabbage samples from Wukari (0.60 ± 0.04) and Jalingo (0.38 ± 0.02) had higher mean lipid contents. Cabbage from Wukari had a higher mean fibre composition (3.95 ± 0.10). The amount of carbohydrates in lettuce from Wukari was found to be higher (3.94 ± 0.08). The total bacterial count mean values were higher in the cabbage sample collected from the Zing market ($1.43 \times 10^7 \pm 1.43 \times 10^5$) and higher in the fresh lettuce sample collected from Wukari market ($1.52 \times 10^7 \pm 4.9 \times 10^5$). Bacterial

contamination can cause vegetables to deteriorate and lose important nutrients. Vegetables sold in markets should therefore be properly washed and prepared before eating.

Keywords: Nutrients, Bacterial Load, Contamination, Cabbage, Lettuce

INTRODUCTION

Food moisture content has a significant impact on the growth and survival of various microorganism groups since it is one of the most significant intrinsic factors influencing the growth of microorganisms in food. Food scientists consider moisture to be a crucial quality factor in food preservation (Afolabi *et al.*, 2017). One of the earliest methods of food preservation that has been used is controlling the moisture content of food (Amit *et al.*, 2017).

Microorganisms require larger amounts of certain minerals found in ash, such as potassium, sodium, calcium, and magnesium. They also require smaller quantities of other elements found in ash, such as aluminium, iron, copper, manganese, magnesium, calcium, and zinc (Tayyeb *et al.*, 2017). Of all macromolecules, proteins are the most varied in their range of functions and are among the most prevalent organic molecules in biological systems (Rye *et al.*, 2017). Foods originating from animals contain more proteins than foods originating from plants (Syamaladevi *et al.*, 2016). The way that different microorganisms metabolise food proteins varies widely (Barak and Muchova, 2013).

Foods originating from animals have comparatively more lipids than foods originating from plants, however lipid contents are higher in nuts, oil seeds, coconuts, and olives (Caeser *et al.*, 2016; Adams *et al.*, 2018). Despite the fact that only a tiny percentage of food-borne microbes attack lipids, microorganisms nevertheless use them as energy sources (Caeser *et al.*, 2016). According to Tayebb *et al.* (2017), crude fibres are made up of plant cells that remain intact despite being broken down by human digestive enzymes. These components include hemicellulose, lignin, oligosaccharides, pectins, gums, and waxes.

Microorganisms that are typically present in food can metabolise glucose, but they can also use other carbohydrate sources in quite different ways. Microorganisms metabolise carbohydrates through a variety of metabolic pathways primarily to provide energy

(Youssef *et al.*, 2014). Food's bacterium quality is a concern because, in both developed and developing nations, poor hygiene can allow food to act as a medium for the spread of pathogens. Food-borne illnesses caused by pathogen contamination represent a significant health burden on people (Alzubaidy *et al.*, 2013). Because pathogens can pose varying degrees of pathogenicity, it is imperative to study the prevalence of pathogens in our communities (Osman *et al.*, 2014).

MATERIALS AND METHODS

Collection of samples

For this study, cabbage and lettuce were used as samples. In each of the chosen research areas, two hundred vegetables were gathered from the selected markets. The samples were transported to the Department of Microbiology, Federal University Wukari in a sampling box with ice packs for determination of microbial load and the Institute of Agricultural Research in Zaria conducted the proximate analysis.

Determination of Proximate Composition

Determination of moisture content: The determination of moisture was carried out using the method of Der-Jiun, et al. (2012). A crucible that had been cleaned was dried to a consistent weight at 105°C in a hot air oven. It was then cooled in desiccators and weighed (W₁). A sample of food weighing 2 g was placed into the crucible that had been previously labelled and weighed again (W₂). At 105°C, the container was dried in a hot air oven until its weight remained constant (W₃). The following formula was used to get the percentage moisture content:

$$\% \text{ moisture content} = \frac{W_3 - W_1 \times 100}{W_2 - W_1}$$

Determination of ash content: The method described by the AOAC (2010) was used to determine the amount of ash. After being dried and cooled in a desiccator, a porcelain crucible was weighed (W₁). Two grams of the food was placed into the weighed crucible and was reweighed (W₂). For eight hours, the sample was heated to 500 degrees Celsius in the boiler to guarantee adequate ashing. The crucible that held the ash was taken out, allowed to cool in desiccators, and then weighed (W₃). Using the following formula, the percentage of ash content was determined:

$$\% \text{ ash content} = \frac{W_3 - W_1 \times 100}{W_2 - W_1}$$

Determination of Nitrogen and crude protein

Protein Digestion: The method of Babalola and Akinsoyinu (2011) was adapted. Briefly, 1.5 g of defatted sample in an ashless filter paper was dropped into 300 ml Kjeldahl flask. Twenty-five milliliters (25 ml) of H_2SO_4 and 3 g of digesting mix catalyst (which was weighed separately into an ashless filter paper) was dropped into Kjeldahl flask. The flask was then transferred to Kjeldahl digestion apparatus. The sample was digested until a clear green colour was obtained. The digest was cooled and diluted to 100 ml with distilled water.

Distillation of the digest: After measuring twenty millilitres of the diluted digest into a 500 millilitre Kjeldahl flask filled with anti-bumping chips, 40 millilitres of 40% NaOH were gradually added by the flask's side. To capture the released ammonia, a 250 ml conical flask was filled with a solution of 50 ml of 2% boric acid and 4 drops of mixed indicator. The tubes were then inserted into the Kjeldahl and conical flasks, and the two flasks were then set inside the Kjeldahl distillation apparatus. After that, heat was applied to the flask to extract the ammonia. The distillate was collected into boric acid solution. From the point when the boric acid turned green, 10 minutes was allowed for complete distillation of the ammonia present in the digest. The distillate was titrated with 0.1M HCl.

Calculation:

$$\% N = \frac{14 \times M \times V_t \times T_v \times 100}{\text{Weight of Sample (mg)} \times V_s}$$

$$\% \text{ crude protein} = \% \text{ Nitrogen (N}_2\text{)} \times 6.25$$

Where M = Actual molarity of acid, T_v = titre volume of acid used, V_t = Total volume diluted digest, V_s = Aliquot volume distilled.

Determination of crude lipid content: A 500 ml dry round-bottom flask with a few anti-bumping granules was weighed (W_1), and 300 ml of extraction-grade petroleum ether (40–60°C) was added to the flask equipped with a soxhlet extraction unit (AOAC, 2010). The soxhlet extraction unit was fixed with the extractor thimble containing 20 g of the sample. The extraction process took six hours to complete. The oil was dried in an oven set to 70°C

for one hour after the solvent was recovered (AOAC, 2010). After cooling in the desiccators, the round-bottom flask holding the oil was weighed (W_2). Thus:

$$\text{Percentage crude lipid content} = \% \text{ ash content} = \frac{W_2 - W_1 \times 100}{\text{Weight of sample}}$$

Determination of carbohydrate (by difference): The total carbohydrate content was determined by difference. The sum of the percentage moisture, ash, crude lipid, crude protein and crude fiber was subtracted from 100 (Der-Jiun *et al.*, 2012).

$$\text{Total Carbohydrate} = 100 - \%(\text{Moisture} + \text{Ash} + \text{Fat} + \text{Protein} + \text{Fibre}).$$

Total aerobic plate count (heterotrophic plate count)

Total aerobic plate count was carried out using pour plate method as described by Kawo *et al.* (2012) and Owolabi and Ichokwu (2014).

RESULTS

Lettuce and cabbage samples collected from Donga had a higher percentage mean composition of moisture of 96.82 ± 0.52 and 95.41 ± 0.33 (Table 1 and 2). The results of the statistical analysis demonstrated a highly significant difference ($P = 0.001$) in the percentage mean of moisture composition among the various food types from the various locations. Cabbage and lettuce from Jalingo had higher ash percentage mean composition of 0.91 ± 0.054 and 0.99 ± 0.04 respectively. The results of the statistical analysis demonstrated a highly significant difference ($P < 0.05$) in the ash composition of the food samples from each of the four sample locations.

The cabbage sample collected from Jalingo had a higher percentage mean protein content of 0.70 ± 0.88), as shown in Table 1. As shown in Table 2, lettuce sample from Zing had higher percentages of mean protein compositions of 0.85 ± 0.26). Furthermore, based on location, there was a statistically significant difference ($P < 0.001$) in the protein composition of each food sample.

Cabbage from Wukari market had a higher percentage mean composition of lipids (0.60 ± 0.04) (Table 1). In Table 2, lettuce showed a higher percentage mean lipid composition of 0.38 ± 0.02 compared to Jalingo. Based on statistical analysis, there was a

significant difference ($P < 0.05$) in the percentage mean composition of lipid in the food sample from each of the four locations.

Cabbage from Wukari had a higher mean percentage of fibre (3.95 ± 0.10) in its mean composition. (Table 1). Table 2 shows that the percentage mean of fibre in lettuce from Zing was higher at 0.85 ± 0.26 . Compared to lettuce, cabbage had a higher mean percentage of crude fibre. While there was no significant difference in the fibre content of lettuce from the four different sampling locations ($P = 0.2835$), the statistical analysis showed that there was a strong significant difference in the fibre content of cabbage from the four different locations ($P = 0.0001$).

The average percentage mean carbohydrate content of the cabbage from Wukari market was 1.80 ± 0.05 , (Table 1) and the mean composition of carbohydrates in lettuce was also higher from samples from Wukari (3.94 ± 0.08) (Table 2).

Table 1: Percentage mean proximate composition of fresh cabbage from different sampling locations

Location	composition					
	Moisture	Protein	Fibre	Ash	Lipid	Carbohydrate
Jalingo	92.44 ± 0.06	0.70 ± 0.08	3.53 ± 0.04	0.91 ± 0.04	0.23 ± 0.02	1.20 ± 0.07
Zing	92.54 ± 0.16	0.51 ± 0.04	3.60 ± 0.06	0.79 ± 0.01	0.31 ± 0.02	1.53 ± 0.06
Wukari	95.31 ± 0.32	0.57 ± 0.01	3.95 ± 0.10	0.90 ± 0.02	0.60 ± 0.04	1.80 ± 0.05
Donga	95.41 ± 0.33	0.51 ± 0.00	3.51 ± 0.08	0.86 ± 0.02	0.39 ± 0.01	1.31 ± 0.06
P-value	0.0001**	0.0004**	0.0001**	0.0001**	0.0065**	0.0001**

Table 2: Percentage mean proximate composition of fresh lettuce from different sampling locations

Location	composition					
	Moisture	Protein	Fibre	Ash	Lipid	Carbohydrate
Jalingo	94.95 ± 0.11	0.60 ± 0.05	0.79 ± 0.02	0.99 ± 0.04	0.38 ± 0.02	3.41 ± 0.05
Zing	94.21 ± 0.12	0.45 ± 0.05	0.85 ± 0.26	0.93 ± 0.02	0.25 ± 0.03	3.20 ± 0.09
Wukari	96.51 ± 0.70	0.50 ± 0.03	0.78 ± 0.01	0.81 ± 0.03	0.35 ± 0.01	3.94 ± 0.08
Donga	96.82 ± 0.52	0.51 ± 0.04	0.75 ± 0.01	0.93 ± 0.02	0.34 ± 0.03	3.71 ± 0.02
P-value	0.0001**	0.0001**	0.2835	0.007**	0.0024**	0.0204**

Table 3: Mean values of total bacterial count (TBC) in vegetables from different locations

Food type	Total No. of Samples	Total bacterial count(cfu/g)				P-value
		Jalingo($\pm$ SEM)	Zing($\pm$ SEM)	Wukari($\pm$ SEM)	Donga($\pm$ SEM)	
Cabbage	100	$1.44 \times 10^7 \pm 4.5 \times 10^5$	$1.46 \times 10^7 \pm 6.4 \times 10^5$	$1.40 \times 10^7 \pm 2.2 \times 10^5$	$1.56 \times 10^7 \pm 3.6 \times 10^5$	0.4198
Lettuce	100	$1.40 \times 10^7 \pm 6.7 \times 10^5$	$1.64 \times 10^7 \pm 4.5 \times 10^5$	$1.52 \times 10^7 \pm 4.9 \times 10^5$	$1.60 \times 10^7 \pm 5.9 \times 10^5$	0.0096*

The mean total bacterial count was higher in cabbage ($1.56 \times 10^7 \pm 3.6 \times 10^5$ cfu/ml) from Donga and the mean total bacterial count was higher in lettuce ($1.64 \times 10^7 \pm 4.5 \times 10^5$ cfu/ml) from Zing Market (Table 3). There was a significant difference in the mean values of total bacterial count in the food samples ($P < 0.0096$).

DISCUSSION

Food spoilage by microbial community is greatly influenced by moisture content, which plays a significant role in the distribution of microorganisms in an environment. According to Nwachukwu and Idah (2015), moisture plays a significant role in the growth of microorganisms in food. The average percentage of ash in cabbage was found to be 0.67 ± 0.19 by Tayyeb *et al.* (2017). However, Butnariu and Butu (2014) have reported that the types of nutrients (minerals), crop development, and crop maturation may all have an impact on the significant variation in ash content found in vegetables.

According to Tayyeb *et al.* (2017), the percentage mean protein value of 1.80 ± 0.51 in cabbage is higher than the percentage mean protein value in cabbage found in this study. Compared to the percentage mean protein value obtained in this work, Caunii *et al.* (2010) reported a higher protein composition in lettuce. The observed variation in the percentage mean composition of protein values among the food items could potentially be attributed to differences in the types of food samples.

According to Caesar *et al.* (2016) and Syamaladeyi *et al.* (2016), foods originating from plants have comparatively lower lipid contents than foods originating from animals, which

could account for the low lipid content of cabbage and lettuce. One possible explanation for the notable disparity in the percentage mean values of lipid in the foods could be due to variations in locations. When bacterial cell walls and membranes are developing, lipids are crucial.

According to Tayyeb *et al.* (2017), the percentage mean fibre composition of cabbage in this study is consistent with that of their report. The report by Nwachukwu and Idah (2015), which recorded 1.25 ± 0.10 as the percentage mean composition of fibre in lettuce, is not consistent with the percentage mean composition of fibre in lettuce. $P = 0.2835$ indicates that there was no statistically significant variation in the percentage mean fibre content of lettuce. This may be the case because there are minimal variations in the environmental factors and the lettuce contains the same nutritional components.

The carbohydrate content of lettuce, as reported by Nwachukwu and Idah (2015), does not agree with the percentage mean carbohydrate content of 6.04 ± 0.22 . Microbes use carbohydrates as a primary source of energy, so their presence is significant. This finding supports Januskevicius *et al.* (2012) that vegetables are a good source of carbohydrates.

The degree of contamination in each food sample may be the cause of the significant difference ($P < 0.05$) in the mean values of bacterial counts in the foods in the markets. Numerous elements, such as direct or indirect environmental contamination from sources like soil, water, compost, and excrement, affect the number of bacteria present in food (Zhu *et al.*, 2017).

According to Tiimub *et al.* (2012), there is a growing trend in developing countries such as Nigeria of using untreated water waste and manure as fertilisers on farmlands to produce fruits and vegetables. Contamination can also occur from handling by infected marketers or from vegetables being sprayed with tainted water to keep them fresh in the market (Chukwuma, 2016).

CONCLUSION

The proximate composition of fresh foods promotes a high microbial load by supporting a high population of microbes. Vegetables should thoroughly be washed and/or cooked before consumption to lower the microbial population.

REFERENCES

- Adams, S., Sello, C.T., Qin, G.-X., Che, D. and Han, R. (2018). Does dietary fibre affect the levels of nutritional components after feed formulation? *Fibres*, 6(29):1-15
- Afolabi, F.T., Arowosebe, A.R. and Adeyemo, S.M. (2017). Investigation on the microbiological quality of raw meats sold in some parts of Ibadan metropolis, Nigeria. *Annals: Food Science and Technology*, 18(3):512-520
- Alzubaidy, A.M., Kakey, S.I. and Ali, J.F. (2013). Isolation and identification of *Listeria monocytogenes* by PCR and from some food sources in Ervil city. *Euphrates Journal of Agriculture Science*, 5(3):14-26.
- Amit, S.K., Uddin, M., Rahman, R., Islam, R. and Khan, M.S. (2017). A review on mechanisms and commercial aspects of food preservation and processing. *Agriculture and Food Security*, 6:51.
- Association of Official Analytical Chemists, AOAC. (2010): Official Methods of Analysis. 18th edition. Washington; D.C. USA.
- Babalola, O.O. and Akinsoyinu, A.O. (2011). Proximate, mineral and biochemical evaluation of the haemolymph of growing snails fed fresh lettuce waste, whole lettuce, pawpaw leaves and cabbage waste. *Asian Journal of Agricultural Sciences*, 3(1):1-4.
- Barak, I. and Muchova, K. (2013). The role of lipid domains in bacterial cell processes. *International Journal of Molecular Sciences*, 14: 4050-4065.
- Butnariu, M. and Butu, A. (2014). Chemical Composition of Vegetables and their Products. Handbook of Food Chemistry, Springer-Verlag Berlin Heidelberg. Pp 3-9
- Caesar, R., Nygren, H., Oresic, M. and Backhed, F. (2016). Interaction between dietary lipids and gut microbiota regulates hepatic cholesterol metabolism. *Journal of Lipid Research*, 57:474-481.
- Caunii, A., Cuciureanu, R., Zakar, A.M., Tonea, E. and Giuchici, C. (2010). Chemical composition of common leafy vegetables. *Studia Universitatis "Vasile Goldis", Seria Ştiinţele Vieţii*, 20(2):45-48.
- Chukwuma, O.P. (2016). Bacteriological analysis of salad vegetable in Eke Awka market, Anambra State, Nigeria. *International Journal of Scientific and Research Publications*, 6(6):305-312.
- Der-jiun, O. Shhid, I. and Ismail, M. (2012). Proximate composition, nutritional attributes and mineral composition of *Peperomia pellucid* L. (Ketumpangan air) grown in Malaysia. *Journal of Molecules*, 17:11139-11145.
- Januskevicius, A. Januskeviciene, G. and Anddruleviciute, V. (2012). Chemical composition and energetic values of selected vegetable species in Lithuanian supermarkets. *Veterinarija IR Zootechnika*, 58(80):8-12.
- Kawo, H., Dabai, Y., Manga, S. and Garba, G. (2012). Prevalence and public health implications of the bacterial load of environmental surfaces of some secondary schools in Sokoto, North-western Nigeria. *International Research Journal of Microbiology*, 3(5):186-190.

- Nwachukwu, N.G. and Idah, P.A. (2015). Effects of maturity on the proximate composition of lettuce (*Lactuca sativa*). *Academic Research International Journal*, 6(1):55-62.
- Osman, K.M., Zolnikov, T.R., Samir, A. and Orabi, A. (2014). Prevalence, pathogenic capability, virulence genes, biofilm formation, and antibiotic resistance of *Listeria* in goat and sheep milk confirm need of hygienic milking conditions. *Pathogens and Global Health Journal*, 108(1):21-29.
- Owolabi, J.B. and Ichoku, C.K. (2014). Evaluation antibiotic resistance pattern of Gram-positive Bacilli isolated from ready-to-eat vegetables sold in Ota metropolis, Nigeria. *Covenant Journal of Physical and Life Sciences*, 2(2):139-149.
- Rye, C., Wise, R., Jurukovski, V., Desaix, J., Choi, J. and Avisar, Y. (2017). Biology. Openstax, Rice University, 6100 main street Ms-375, Houston, Texas 77005 Pp 83.
- Tayyeb, M., Rahsiod, N., Achakzai, S.U.K., Rehman, S.U., Akhta, W., Baeer, K. and Sabir, M. (2017). Mineral profile and proximate analysis of fresh and waste water irrigated cabbage from Quetta Balochistan. *Journal of Pure and Applied Sciences*, 6(3):882-888.
- Tiimub, B.M., Kuffour, R.A. and Kwarteng, A.S. (2012). Bacterial contamination levels of lettuce irrigated with waste water in the Kumasi metropolis. *Journal of Biology, Agriculture and Healthcare*, 2(10):116-127.
- Youssef, M.K.E., El-Newihi, A.M., Omar, S.M. and Ahmed, Z.S. (2014). Assessment of proximate chemical composition, nutritional status, fatty acid composition and antioxidants of curcumin (*Zingiberaceae*) and mustard seeds powders (*Brassicaceae*). *Food and Public Health*, 4(6):286-292.
- Zhu, Q., Gooneratne, R. and Hussain, M.A. (2017). *Listeria monocytogenes* in fresh produce: outbreaks, prevalence and contamination levels. *Journal of Foods*, 6(2):1-11.